REMEMBER:

Use words to tie your sentences together:  In addition, then, also, finally…..

Check for AGREEMENT and CORRECT USE OF COUNTABLE NOUNS

Be careful with PASSIVES

urban area    poor housing conditions         air pollution
smoke  factories   exhaust   motor vehicles   water pollution    
industrial waste
sewage     pneumatic drill     noise pollution   land pollution  
   rubbish     traffic
congestion   government  roads  cars

solution   bicycle    car   bus

Urban areas have many problems today. Many poor people still have to live in poor housing conditions. In addition, everyone is affected by the problem of pollution. Air pollution, caused by smoke from factories and by the exhaust from motor vehicles, often makes us ill.  Then there is water pollution, produced by industrial waste and by sewage, and also noise pollution from pneumatic drills and other machinery. There is also land pollution caused by the dumping of rubbish. Finally, there is the problem of traffic congestion.  Governments try to build more roads, but as more people buy cars the problem remains the same. Perhaps the solution is for all of us to use bicycles. to go to school or to work instead of using cars or buses.  
